Transfers Report

This report contains the transfers results.

Contest Name	Inverness South
Valid Votes	5,543
Positions to be Filled	4
Quota	1,109

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Colin AITKEN	Scottish Liberal Democrats	478
Jimmy DUNCAN	Alba Party for independence	104
Claire FILER	Scottish Greens - Delivering For Our Community	299
Ken GOWANS	Scottish National Party (SNP)	1,949
David JARDINE	Scottish Labour Party	402
Duncan MACPHERSON	Independent	1,375
Andrew SINCLAIR	Scottish Conservative and Unionist	936
	Total	5,543

Candidate Ken GOWANS Elected with 1,949 votes, being in excess of the quota of 1,109 Candidate Duncan MACPHERSON Elected with 1,375 votes, being in excess of the quota of 1,109

Transfers Report

This report contains the transfers results.

840.00000

Stage 2 - Surplus of Ken GOWANS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin AITKEN	167	0.43099	71.97533
Transfer to Jimmy DUNCAN	261	0.43099	112.48839
Transfer to Claire FILER	692	0.43099	298.24508
Transfer to David JARDINE	232	0.43099	99.98968
Transfer to Andrew SINCLAIR	32	0.43099	13.79168
No further preference	565	0.43099	243.50935
Not transferred due to rounding			0.00049
	Total		840.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Duncan MACPHERSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin AITKEN	353	0.19345	68.28785
Transfer to Jimmy DUNCAN	47	0.19345	9.09215
Transfer to Claire FILER	161	0.19345	31.14545
Transfer to David JARDINE	178	0.19345	34.43410
Transfer to Andrew SINCLAIR	299	0.19345	57.84155
No further preference	337	0.19345	65.19265
Not transferred due to rounding			0.00625
	Total		266.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Jimmy DUNCAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin AITKEN	7	1.00000	7.00000
Transfer to Claire FILER	43	1.00000	43.00000
Transfer to David JARDINE	12	1.00000	12.00000
Transfer to Andrew SINCLAIR	6	1.00000	6.00000
Transfer to Colin AITKEN	32	0.43099	13.79168
Transfer to Claire FILER	117	0.43099	50.42583
Transfer to David JARDINE	19	0.43099	8.18881
Transfer to Andrew SINCLAIR	7	0.43099	3.01693
Transfer to Colin AITKEN	9	0.19345	1.74105
Transfer to Claire FILER	14	0.19345	2.70830
Transfer to David JARDINE	5	0.19345	0.96725
Transfer to Andrew SINCLAIR	3	0.19345	0.58035
No further preference	36	1.00000	36.00000
No further preference	86	0.43099	37.06514
No further preference	16	0.19345	3.09520
Not transferred due to rounding			0.00000
	Total		225.58054

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of David JARDINE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin AITKEN	184	1.00000	184.00000
Transfer to Claire FILER	78	1.00000	78.00000
Transfer to Andrew SINCLAIR	47	1.00000	47.00000
Transfer to Colin AITKEN	68	0.43099	29.30732
Transfer to Claire FILER	80	0.43099	34.47920
Transfer to Andrew SINCLAIR	8	0.43099	3.44792
Transfer to Colin AITKEN	73	0.19345	14.12185
Transfer to Claire FILER	22	0.19345	4.25590
Transfer to Andrew SINCLAIR	32	0.19345	6.19040
No further preference	105	1.00000	105.00000
No further preference	95	0.43099	40.94405
No further preference	56	0.19345	10.83320
Not transferred due to rounding			0.00000
	Total		557.57984

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Claire FILER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin AITKEN	201	1.00000	201.00000
Transfer to Andrew SINCLAIR	15	1.00000	15.00000
Transfer to Colin AITKEN	337	0.43099	145.24363
Transfer to Andrew SINCLAIR	14	0.43099	6.03386
Transfer to Colin AITKEN	73	0.19345	14.12185
Transfer to Andrew SINCLAIR	6	0.19345	1.16070
No further preference	204	1.00000	204.00000
No further preference	538	0.43099	231.87262
No further preference	118	0.19345	22.82710
Not transferred due to rounding			0.00000
	Total		841.25976